ASSEMBLY INSTRUCTIONS:

CLEAN RUNWAYS OF EXISTING DIRT & DEBRIS

LAYOUT DB-6000 KIT ONTO RUNWAYS & MARK MOUNTING HOLES

REMOVE DB-6000 KIT AND TOUCH-UP HOLES & SCRATCHES WITH PAINT
ALLOW PAINT TO DRY (SEE MANUFACTURERS RECOMMENDED INSTRUCTIONS)
BEGINNING AT THE END OF THE RUNWAY OPPOSITE THE RAMP, BEGIN ®
INSTALLING DB-6000 COMPONENTS /

o hWLM

AFTER ALL PARTS HAVE BEEN SECURED, RE-TIGHTEN ALL HARDWARE

. 1.
45t _
INSIDE

>
_

14 Pl

ROLL [ l

BACK

FLAP TURNPLATE 79 5" FILLER REAR SLIPPLATE VARIOUS LENGTH

FRONT GUIDE STRIPS RAMPS
FILLER

S
I

HARDWARE ARRANGEMENT
1/4"HARDWARE | 1/4-20 X 1 HEX HEAD CAP SCREW 1/4" USS FLAT WASHER | 1/4-20 NYLON INSERT LOCK NUT
3/8" HARDWARE | 3/8-16 X 2-1/2 HEX HEAD CAP SCREW | 3/8" USS FLAT WASHER | 3/8-16 NYLON INSERT LOCK NUT
5/16" HARDWARE|5/16-18 X 1-1/2 HEX HEAD CAP SCREW|5/16" USS FLAT WASHER|5/16-18 NYLON INSERT LOCK NUT
1/2" HARDWARE | 1/2-13 X 1-1/2 HEX HEAD CAP SCREW | 1/2" USS FLAT WASHER | 1/2-13 NYLON INSERT LOCK NUT |1/2" SPLIT LOCK WASHER

AIOWOWIN|—

PROPRIETARY AND CONFIDENTIAL

> DB-6000-22 DB-6000-22 & DB-6000-24 THE INFORMATON CONTANED I TS
im0 DB.4000-24 | ASSEMBLY INSTRUCTIONS

PERMISSION OFQSP IS PROHIBITED. SCALE: 1:24

5 4 3 2 1



	Sheet1
	Drawing View1
	Drawing View2
	Detail View A (1 : 12)


